joakim sandgren

faits saillants (2009 - 2010, 2014 - 2015)

pour un(e) violoncelliste et ordinateur

partition



duration = 830 minutes

comments on dynamic notation
>

all dynamic signs are within quotation marks and do not indicate the
actual volume because the noise sound qulity technique do not allow the
acoustic sound to be load. the dynamic signs in quotation marks rather
indicates the intensity of the action.

comments on performance techniques

square notes are to be played as semi-harmonics where the
finger touches the string very gently without depressing it. the
player can add one or two fingers behind the first finger to
ensure that the string is well damped and to avoid harmonics
effects.



J =72 poco rit...

faits saillants (2009 - 2010, 2014 - 2015)

pour un(e) violoncelliste et ordinateur

joakim sandgren (1965)
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